Bid LRE112%25E
AL ER T ABERR AL RRA

#B LM BAREES (KFMALHE]

— VK x EEE—

AR BFR] ¢ 100 48

FRE LS ENAEHHRE > EFAFEE ~ e & - FAaREL
gk (f) 2 BEERE - 2AES BRABRATEHE > WwhHFEX
PPt EERXA BRI o

AELMRAE - ZEEELAB)EET -HEIMAT THRERELE &
EEPEXTRIR - RABER (F) ~ FEERIESE) - A
BEHRER —HAELE  FHEMELSRFEAETER S THRFEAE
FEETORELTEEMLER)

KR QB4 EDe ARG ER (F) o REH 2B&
2B RBRFERLLHERBLEREEL BRI F4E8 8 -
KEE (F) BREFERE R E - HERERELBIRBRE
o O NABEZEEZAMYL REBREEIBEEEMIIEMIXFRA
g o
TEBRATEAERRAETNNAZEARE o ", R B
A BRFEBAFE N R KB ENERAL A GRAG R
FNERNTF2EBEEN B (RS THEZ T TFFHRE) A
35 -

MERERE () FHORE - REOEZBREUZT T E -
MEREmSIE - EEEERHERRREFS -
ERBREARBEERGISHRRREREEMAEE -

b




BrF LAREI2E2SFEEFLHERLABRIHB AL RRAE

#8454 AHEES [@FmELHE] A5t 403002
MEAABRFERRE AT EHFERCGLALSA) £3HF1E

[Questions 1 and 2 are multiple-choice questions. One point will be deducted for each wrong choice. If
the score of the question is below zero or none of the choices are selected, the question will be scored as

Zero.

Question 1 (5 points) Multiple-Choice Question
Consider a game of two players. Player 1 has two strategies, T and D, and player 2 has two strategies, L

and R. The payoff matrix is in Figure 1.

L R

T a, b &4

D e, g. h

Figure 1
Which of the followings is correct? (There may be more than one correct answer.)

(A)If ¢ > a, the strategy profile (T, L) cannot be a Nash equilibrium.

(B) If d > b, the strategy profile (T, L) cannot be a Nash equilibrium.

(C)If g > a and h > b, the strategy profile (T, L) cannot be a Nash equilibrium.

(D) Consider the strategy profile (T, L). If the payoffs are such that player 1 wants to deviate from
playing T, and player 2 wants to deviate from playing L, then the strategy profile (D, R) must be a

Nash equilibrium.
(E) If ¢ = e = g and d = { = h, then the strategy profile (D, R) is a Nash equilibrium.

Question 2 (5 points) Multiple-Choice Question

In a second-hand car market, there are 100 high-quality cars and 100 low-quality cars that may be sold.
There are 200 potential buyers, and each potential buyer will buy at most one car. Each seller values a
high-quality car at 3000 dollars and a low-quality car at 1000 dollars. Each buyer values a high-quality
car at 3500 dollars and a low-quality car at 1500 dollars. Sellers know the quality of the cars that they
sell and have options of not selling their cars. Buyers cannot observe the quality of a car on the market.
However, buyers know correctly the ratio of high-quality car and low-quality car that are for sale.

Which of the followings is correct? (There may be more than one correct answer.)

(A) All the high-quality cars are sold.

(B) All the low-quality cars are sold.
(C) The estimated value of a car for sale from a buyer’s perspective is 2500 dollars.

(D) The estimated value of a car for sale from a buyer’s perspective is 1500 dollars.
(E) The price of a car sold on the market is at most 1500 dollars.

Question 3
Consider a consumer with the budget m, and there are two goods, good | and good 2, that he/she can

consume. The consumption of good 1 is x;, and the consumption of good 2 is x;. The price of good 1 is

P4, and the price of good 2 is p,.

(A) (10 points) If this consumer’s utility function is u(xq, x,) = x; + x,, what are his/her demand
functions for each good? (We assume p; < p, for this question.)

(B) (10 points) If this consumer’s utility function is u(x;, x,) = min{x;, x,}, what are his/her demand
functions for each good?
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For the following questions (C) — (F), we assume that this consumer’s utility function is u(xy, x;) =
x2S,

(C) (10 points) Suppose p; = 2, p, = 3, and m = 10. What are his/her demand functions for each good?

(D) (10 points) Following question (C), if the price for good 1 is changed to p; = 1, what is the (Slutsky)
substitution effect?

(E) (5 points) Following questions (C) and (D), what is the income effect?

(F) (10 points) Following question (C), suppose the government imposes a quantity tax on good 1, so that
consuming x, requires paying a tax of tx;. Let ¢ = 1. What is the consumer’s optimal consumption

bundle?

Question 4 (15 points)
Consider a monopoly firm that produces goods for two separate market, market 1 and market 2. Let the

quantity produced for market 1 be y,; and the quantity produced for market 2 be y,. The (inverse)
demand function for market 1 is p(y;) = 2 — y;, and the (inverse) demand function for market 2 is
p(y;) = 3 — y,. The cost function for production is c(yy,y,) = (¥, + y2)*. For this firm to maximize
the profit, what are the optimal productions of y; and y,.

Question 5
Consider a market where there are an incumbent firm, Firm 1, and a firm that considers entering the

market, Firm 2. Both firms produce the identical products.

Denote the amount that Firm 1 produces as y;, and denote the amount that Firm 2 produces as y,, if Firm
2 enters the market. The cost of production is zero for both firms. The (inverse) demand function of the
market is p(Y) = 10 — (y; + y,). Firm 2 need to spend a fixed cost E = 3 in order to enter the market.

Firm 2 first decides whether to enter, and Firm 1, after observing Firm 2°s decision, chooses whether to
fight against Firm 2. If Firm 2 enters, both firms engage in quantity competition in the following way. If
Firm 2 enters and Firm 1 does not fight, both firms compete as in the Stackelberg model, where Firm 1
plays the leader and Firm 2 plays the follower. If Firm 2 enters and Firm 1 fights, Firm 1 produces y; =
y; = 7, and Firm 2 produces a profit-maximizing amount as a response to Firm 1’s production. If Firm 2
does not enter the market, Firm 1 produces the profit-maximizing amount y; = y;. Figure 2 expresses

the game tree of above extensive-form game (without specifying the payoffs).

Not Fight - Payoffs in question (A)
. Fim1 =
Entry . T
Fight 7 Payoffs in question (B)
Frim 2
No Entry - \
4 Firm 1 Payoffs as a result of
Firm 1 produces y; = y; and y, = 0.
Y1 = Vi
Figure 2

(A) (10 points) Suppose Firm 2 enters and Firm 1 chooses not to fight. Both firm compete as in the
Stackelberg model, where Firm 1 is the leader and Firm 2 is the follower. What are the profits for

HAFEA B FEEFERATHA




Bidt WA 1128FERALHERALAMEIER 4 4 3HE

#8444 BREES [EHmHFELHE] FE5% 403002
KA BRMERE "ATU, EAFERCGLSR) £3E%3A
both firms?

(B) (5 points) Suppose Firm 2 enters and Firm 1 chooses to fight and produces y; = y; = 7. What are the
profits for both firms? (In this question, treat the fixed cost £ = 3 as a sunk cost for Firm 2 and find
the optimal y,, and then calculate the resulting profits for each firm.)

(C) (5 points) What is the Nash equilibrium of this game?
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